H & 0l & AHS B Ml A

M SEEEL
M sEzdds
ool Esus 243 X (St &)
A - Z33 - S2A(3H) - NRAY - Off &K & A HusZ
sEgE 23,106,098 19,653,102 3,452,9%
= 1,499,023 376,500 1,122,523
[ 8,465,134 8,215,000 250,134
| 270,905 270,905 0
£ 100,000 0 100,000
= 3,000,329 2,506,386 493,943
S 35,000 0 35,000
Al 9,735,707 8,284,311 1,451,3%
25t 3,155,212 2,727,113 428,099
= 249,023 313,848 AB4,825
s 95,134 0 95,134
(= 551,422 431,083 120,339
Al 2,259,633 1,982,182 277,451
Csus g4d3 Xd 3,155,212 2,727,113 428,099
= 249,023 313,848 AB4,825
[ 95,134 0 95,134
== 551,422 431,083 120,339
Al 2,259,633 1,982,182 277,451
SEHEFA0IS ARE 254 X 184,611 124,092 60,519
= 0 62,046 N62,046
z 92,305 0 92,305
S 27,693 18,613 9,080
Al 64,613 43,433 21,180
307 212+01& 184,611 124,092 60,519
= 0 62,046 AB2,046
s 92,305 0 92,305
(= 27,693 18,613 9,080
Al 64,613 43,433 21,180
02 QIABAAHER 184,611 124,092 60,519
O=sZMEFL0E AIRE X 184,611 124,092 60,519
= 0 62,046 N62,046
[ 92,305 0 92,305
= 27,693 18,613 9,080
Al 64,613 43,433 21,180
sEMEF20E B8 O X 4,526 4,446 80
= 0 2,779 A2,779
Fas 2,829 0 2,829
(= 509 500 9
Al 1,188 1,167 21
307 212t01& 4,526 4,446 80
= 0 2,779 AN2,779
s 2,829 0 2,829
== 509 500 9
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M SEEEL
M sEzdds
ool Esus 243 X (St &)
SA-3Y - SRA(SAH) - MRAY - BES Off &K & A HusZ
Al 1,188 1,167 21
02 QIRHEAAIHE X 4,526 4,446 80
O=sENEs20e 28 e X 4,526 4,446 80
= 0 2,779 A2,779
s 2,829 0 2,829
= 509 500 9
Al 1,188 1,167 21
HEE =22 29 245 T4 (HEAY) 120,000 120,000 0
= 60,000 60,000 0
Al 60,000 60,000 0
307 212t01 & 120,000 120,000 0
= 60,000 60,000 0
Al €0,000 60,000 0
02 QIRHEAAIHE X 120,000 120,000 0
OsZ&2Z NHE0ls 2Z2dst NEAY 103,000 120,000 A17,000
S 51,500 60,000 A8,500
Al 51,500 60,000 28,500
OtEd sE2d 2 43t XA 17,000 0 17,000
(= 8,500 0 8,500
Al 8,500 0 8,500
OiessH =& 1,324,289 1,194,289 130,000
201 Let2 ] 165,000 135,000 30,000
01 AFR2t2ltl 133,000 103,000 30,000
O2z0 2l s 130,000 100,000 30,000
307 212+01& 1,069,778 969,778 100,000
02 QIHESAIEE X 1,069,778 969,778 100,000
OGIS& A&t Hel 2 1,089,628 959,628 100,000
sHE0Ie AlZ SUiE XIE A 37,500 0 37,500
= 11,250 0 11,250
Al 26,250 0 26,250
402 SIZERHE0| M 37,500 0 37,500
== 11,250 0 11,250
Al 26,250 0 26,250
02 QI TH2AIEEE(0IETHE) 37,500 0 37,500
OsHELE AlE SUia XIZAY 37,500 0 37,500
= 11,250 0 11,250
Al 26,250 0 26,250
sE&E JdH MIME 200,000 0 200,000
(= 100,000 0 100,000
Al 100,000 0 100,000
402 SI2ERHE0I M 200,000 0 200,000
= 100,000 0 100,000
Al 100,000 0 100,000




M SEEEL
M sEzdds
ool Esus 243 X (St &)
SA-3Y - SRA(SAH) - MRAY - BES Off &K & A HusZ
02 QIINEAISEE X (0IETHE) 200,000 0 200,000
Osz2a 384 MUA 200,000 0 200,000
= 100,000 0 100,000
Al 100,000 0 100,000
sSE0EE & JBtAIEEY] 16,214,800 13,295,000 2,919,800
= 1,250,000 0 1,250,000
s 8,370,000 8,215,000 155,000
= 100,000 0 100,000
=S 1,398,400 1,006,000 392,400
S 35,000 0 35,000
Al 5,061,400 4,074,000 987,400
sE0SSZ E| 141,000 6,000 135,000
= 100,000 0 100,000
= 35,000 0 35,000
Al 6,000 6,000 0
SEH 3H0E FUSK2 ANEELY 100,000 0 100,000
£ 100,000 0 100,000
401 AIEHIZL 2 OHYI 100,000 0 100,000
= 100,000 0 100,000
01 A=l 100,000 0 100,000
Odgd sldits sX2 AI8E2d 100,000 0 100,000
= 100,000 0 100,000
PHE DM0E SY A AF 35,000 0 35,000
S 35,000 0 35,000
401 AIEHIZL S OHLI 35,000 0 35,000
= 35,000 0 35,000
01 AlZHI 35,000 0 35,000
OYEH NiNle S X UR(FZ LY
HollAtEA) 35,000 0 35,000
E 35,000 0 35,000
I ZHENEFLHALY 7,046,000 7,046,000 0
s 4,932,000 4,932,000 0
(= 635,000 635,000 0
Al 1,479,000 1,479,000 0
ESH JI=MENESEAMY 1,284,000 1,284,000 0
s 899,000 899,000 0
= 115,000 115,000 0
Al 270,000 270,000 0
307 gIztol & 10,800 0 10,800
z 7,560 0 7,560
S 972 0 gr2
Al 2,268 0 2,268
02 QItEHAIEE X 10,800 0 10,800
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A SEEH
3 ENSSE E JIgAIEEH|
Selr JIZMENEISEAY (SH9 H2)
SN - B SRA(BH) - HPAY - BES 0 & ol 8 o tmE==T
OESY J|=dENE A 10,800 0 10,800
s 7,560 0 7,560
& 972 0 972
Al 2,268 0 2,268
401 Al&BIL S THYI 1,273,200 1,284,000 10,800
= 891,440 899,000 AT,560
& 114,028 115,000 2972
Al 267,732 270,000 N2,268
01 AlZHI 1,270,200 1,281,000 10,800
ESH I ZUENEIEAMY 1,270,200 1,281,000 10,800
= 839,340 896,900 A7,560
< 113,828 114,800 2972
Al 267,032 269,300 N2,268
UBLS MO ENLAIS X AT 22 240,000 170,000 70,000
UELSAHENLAMSX R AIEE RRES 240,000 170,000 70,000
401 Al&BIL S THYI 200,000 130,000 70,000
01 AlEZHI 200,000 130,000 70,000
OLEtsAHENLAS AT AIES
=2 150,000 100,000 50,000
O&S 189 NE2Z 20,000 0 20,000
FAX A MO ALY 1,546,800 1,545,000 1,800
z 1,135,000 1,135,000 0
< 123,000 123,000 0
Al 283,800 287,000 1,800
SS0t2 FHAAS H20AH A 409,800 408,000 1,800
z 305,000 305,000 0
[ 30,900 30,900 0
Al 73,900 72,100 1,800
403 X SHHMSAH=01H 409,800 408,000 1,800
= 305,000 305,000 0
[ 30,900 30,900 0
Al 73,900 72,100 1,800
02 SI12S0ItH et =& 2 €A I 409,800 408,000 1,800
OSE0IE FAXS HEBHAH HEAS 409,800 408,000 1,800
= 305,000 305,000 0
< 30,900 30,900 0
Al 73,900 72,100 1,800
SEEY 3,301,000 3,083,000 213,000
= 2,303,000 2,148,000 155,000
< 265,400 248,000 17,400
Al 732,600 692,000 40,600
AIS0IE FHAXS Y H 2N A 213,000 0 213,000
= 155,000 0 155,000




SN sEEAD
Hal: SE0ISEY U JIBAIE |

ool &S CEEE)
SN - GA(SH) - NRAY - BES 0] a0t /IR HlRE2

= 17,400 0 17,400

Al 40,600 0 40,600

T EEST] 213,000 0 213,000

2 165,000 0 165,000

= 17,400 0 17,400

Al 40,600 0 40,600

01 Alt 213,000 0 213,000

OAIZB0IS 3 OH XA MO EAL 213,000 0 213,000

2 165,000 0 165,000

< 17,400 0 17,400

Al 40,600 0 40,600

SED2AFHIAY 2,500,000 0 2,500,000

2 1,250,000 0 1,250,000

< 375,000 0 375,000

Al 875,000 0 875,000

e 700,000 0 700,000

2 350,000 0 350,000

= 105,000 0 105,000

Al 245,000 0 245,000

401 A& Bl L= ChY| 700,000 0 700,000

2 350,000 0 350,000

= 105,000 0 105,000

Al 245,000 0 245,000

01 Alt 700,000 0 700,000

OSIXT SEJ2AZHIAY 700,000 0 700,000

2 350,000 0 350,000

= 05,000 0 105,000

Al 245,000 0 245,000

N 1,800,000 0 1,800,000

2 900,000 0 900,000

= 270,000 0 270,000

Al 630,000 0 630,000

T EEST] 1,800,000 0 1,800,000

2 900,000 0 900,000

= 270,000 0 270,000

Al 630,000 0 630,000

o1 Al=t 1,800,000 0 1,800,000

OStEX 7 SEJ2AFHIAY 1,800,000 0 1,800,000

2 900,000 0 900,000

< 270,000 0 270,000

Al 630,000 0 630,000

SA2 MAAE U SHAM Lt 3,304,220 3,261,504 62,69

2 0 62,652 762,652




2N =ESE0
T SN2 MAMAE Y SZZHY 23
el DSE A MAAEHS} (EEEE))
SA - B BR(S) - HRAY - BAS o v o H o HmS2
J| 270,905 270,905 0
(o= 1,050,507 1,069,303 A18,7%6
Al 2,002,808 1,858,664 144,144
DS MAS S 219,700 345,004 125,304
= 0 62,652 262,652
J| 24,380 24,380 0
== 9,846 28,642 A18,7%6
Al 185,474 229,330 A43,856
ZTS==uWa WM 0 125,304 125,304
= 0 62,652 N\62,652
= 0 18,7% A18,7%6
Al 0 43,856 43,856
307 212t01 & 0 125,304 125,304
= 0 62,652 N\B2,652
= 0 18,79% A18,7%6
Al 0 43,856 N\43,856
02 QIRHEAAIEE X 0 125,304 125,304
OxZSE= WA HU2rA XJAIS 0 125,304 A125,304
= 0 62,652 262,652
< 0 18,79% A18,7%
Al 0 43,856 A43,856
sItAaSEHA 1,044,550 856,550 188,000
J| 26,100 26,100 0
54,800 54,800 0
Al 963,650 775,650 188,000
ETsE= THHHE A At 42,400 32,400 10,000
< 10,800 10,800 0
Al 31,600 21,600 10,000
307 212+01 ™ 42,400 32,400 10,000
< 10,800 10,800 0
Al 31,600 21,600 10,000
02 QIR AAIEE R 42,400 32,400 10,000
OES0| U= =60t =H AA 10,000 0 10,000
Mol=It AR JHEALS 140,000 0 140,000
402 RIZERE0| A 140,000 0 140,000
01 QIR AL B (KERITHE ) 140,000 0 140,000
OTHoll=It AL IHE A 140,000 0 140,000
ASE 2 USE0E AEHIISIH XA 38,000 0 38,000
301 LEIE2EZ 38,000 0 38,000
14 JIEt2 43 38,000 0 38,000
OAESs 23 Y2E0E NEHDI|=sIt
K& 38,000 0 38,000
MHREs(==20) 42,401 0 42,401
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SN SEEH
¥ Hegs(sEzEl)
chel: BEXIE EER=E)
A -3 - SRA(3H) - HRAE - BES Ofl &4 I3 A Husz
SEXE 42,401 0 42,401
BEXE 42,401 0 42,401
802 gtet=0IEt 42,401 0 42,401
01 2 NEXSEHE= 24,056 0 24,056
OsEMEzgite 28 )t N& 3b 0 b
Os0ELE AHIA ol 1S XI& 3 0 3
O=& MIAHIMAHIA S3 JIBEEAE 6,400 0 6,400
O'2d Al=zagdst 931 0 931
OM=nSEAELS U3 524 0 524
OSsxs(HA SNt 822 0 822
OsY20F HIUXIEZAIE K& 83 0 83
OAMEHN U3 N 83 0 83
o213 AL =t XA 6 0 6
OR0Z0t ICT 858 XY 4 0 A
O'21d H0=0F ICT 858 X 1,148 0 1,148
O'218 DFHIDIEMEHAIE XIS 10,288 0 10,288
O'168 DFHIDIEHHHAIE XIS 3,699 0 3,699
02 Al - EHIEESEHES 18,345 0 18,345
OQMMDISeHSI| JIZEAH ArY 14 0 14
SEMEs20s 28 Ity XA 7 0
ONABHCIN sE2AZEE3t A 0
OOI=SSHOICION 2dat At (D EANY) 14 0 14
O'24 AlZ DISes)| PE(HEAY) 1,256 0 1,256
OM=SEALB U3 237 0 237
OESsHE MHHHELSAIY 1 0 1
OsY20F HIUXIEZAIE K& 3B 0 3
OAME0& et A& 37 0 37
O'21d Aldaust=t X3 3 0 3
OXIYEsEES HIdotA X 6,951 0 6,951
O'21d XNESetE= Hldotea X 2,039 0 2,039
O20I20k ICT 8= X2 10 0 10
O'213 AWZ0t ICT 58 K& 345 0 345
OAMABIRA 2248 X2 1,09 0 1,0%
O'218 DFHIDHETHHHAIE X 4,630 0 4,630
O'16d DFHIDIEMHHAIE XIS 1,665 0 1,665




